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3. Test for a mean (1-sample t-test)
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pehi-square test for goodness of fit

Calwgys \— sigkeol D

waeds !

Ppsthusis

Row The Ldata) 55 disvabuded as ke
ejpeEkd VoW Thodes

Mot The Uote) 1s meb disbuded
o Yho eypethed valwe SVl

bondihens . Opunied dafa Candiion
o« fandom oondibon
©otgedd il ngﬂiww
tndiban : each ol
o et 5.

pondibons Mt —> X -mioet —

d\i-ﬂqouw 9«}&0/%5 ﬂ'ﬂ {

MQQ\\(U\\\U i

Y= dodishes =Z Lobs — ¢yp)
am&]

7. Chi-square test for homogeneity of proportions
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) Test for the slope of least squares regression line
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